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The following table shows the number of items sold by five persons A-E on five different days
(Monday through Friday). Some data is missing in the table that you are expected to calculate, if
required. Based on the data in the table, answer the questions that follow:

Persons

A B IC D [E
Monday (840 (880 [480 | |560)
Tuesday (720 | (1040420 [820)
Wednesday(560 480 (820 [830 |
Thursday (1080110201 11260320}
Friday [ (920 {700 |1020:800)

Dav

Sub questions

Question Number : 1 Question Id : 34212315146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the total numbers of items sold by A and B on all the five days 15 4000, and 4400, respectively,
then the number of items sold by B on Tuesday is % more than the number of items
sold by A on Friday.

| B ks
2.235
3.32.23

4.42.5
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212315147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the ratio of the number of items sold by B and C together on Thursday to the number of items
sold by C and E together on the same day is 2 : 1, then the number of items sold by C on
Thursday is:

1. 300
2.420
3. 330

4.340

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the total number of items sold by A on all the five days is 3600, then the difference between the
mumber of items sold by A on Monday and Friday is:

1. 640
2.450
3.420
4. 440

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If the average number of items sold by D on Monday and Tuesday is 490, then the number of
items sold by E on Friday is % more than the number of items sold by D on Monday.

1.39.76
2.42.36
3.48.23
4.45

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

If the number of items sold by C on Thursday is the average of the number of items sold by C on
Wednesday and Friday, then the total number of items sold by C on all the five days is:

L. 3500
2.3800
3. 3400

4. 3700

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315145 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 34212315146 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

e A 3R B ZR1G Ut 161 o oelt 72 gl 1 et S ShARE: 4000 3R 4400 8,
mma%ﬁBmé%ﬂﬂﬁaﬂaﬁaﬁﬁ@wwuﬁAau@zﬂﬂéaﬁaﬁ@ 0
D gl

1843

22535
33273

4.42.5

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212315147 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.300
2.420
3.380

4. 340
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212315148 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 640

2.450

3.420

4.440
Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212315149 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.39.76
2.42.36
3.48.23

4.45
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212315150 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 3500
2. 3800
3. 3400

4.3700
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123595
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212315151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(ICT/Tools) (Functions)
A |Padlet I. | Criteria-based assessment and feedback
B. |Rubrics II. | Collaborative digital bulletin board
C. | Quizlet III. | Feal time audience repsonse and polling
D. | Mentuneter IV. | Interactive Flashcards and Study sets

Choose the correct answer from the options given below:
1. A-IIT, B-IV. C-II, D-I
2. A-11, B-1, C-1V, D-IIT
3. A-IV. B-II, C-II, D-I

4. A-1, B-IV, C-III. D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212315151 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIT, B-IV. C-II, D-I

[

. A-IL, B-1, C-IV, D-III

L]

. A-1V, B-III, C-1I, D-1

4. A-1. B-1V, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212315152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A teacher assigns a video lecture for students to watch at home before coming to class. Next day
in the class she engages sttudents in “hands-on’ experimental activities. Which approach she vsed
in this situation?

. Problem solving

2. Collaborative learning
3. Flipped classroom

4. Personalized learning

Options :
1.1
2.2



3.3
4.4

Question Number : 7 Question Id : 34212315152 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212315153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A way of dealing with conflict in which people express their feelings, ask for what they want, say
‘00" to things they don't want, and act in their own best interests, is known as-

L. Aggressive style
2. Passive style
3. Assertive style

4, Manipulative style

Options:
1.1
2.2
3.3
4.4



Question Number : 8 Question Id : 34212315153 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The transfer of learning from one situation to another situation that is conscious and effortful is
known as -

1. Near transfer
2. High-road transfer
3. Low-road transfer

4. Far transfer

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212315154 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212315155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The belief that one can master a situation and produce positive outcomes is known as-

. self-efficacy

2. self-esteem

3. self-actualization
4. self-regulation

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212315155 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212315156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

*Code numbers given to the religion of persons’ is an example of data on which of the following
scales of measurement?

. nominal
2. ordinal
3. interval
4. ratio

Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212315156 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The criterion of *dependendability” in qualitative research parallels which of the following criteria
in quantitative research?

. Objectivity

2. Internal validity
3. external validity
4. reliability

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212315157 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 13 Question Id : 34212315158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct statement about the quantitative content analysis:

1. It can allow a certain amount of longitudinal analysis

(i)

. It 1s an obtrusive method
3. It is a very rigid method

4. It is a reactive method
Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212315158 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The geometric mean of the number 9, 12 and 16 is:

1. 12.33

b3

. 11.66
312

4. 12.66
Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212315159 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 12.66

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Suppose Hy = Null Hypothesis, H, = Alternate Hypothesis, u = population mean, Hy, =
hypothesized mean. A researcher sets up Hy : u= iy, and Hy : p < iy, In this sitvation, the
researcher would apply

L. right-tailed test
2. left -tailed test
3. two-tailed test

4, half-tailed test

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212315160 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The Western Society considers communication as an instrument of-

1. Aggression

b3

. Separation

(]

. Covert operations
4. Human relationship

Options:
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212315161 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The context in which communication takes place is termed as -

1. Hostorical background

b3

. Objectification
3. Environment
4. Mediasphere

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212315162 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In non-verbal communication, a symbol representing an object is known as -

1. Identify symbol

2. Explanatory symbol
3. Animated symbol
4. concrete symbol

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212315163 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212315164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Communication is continuously

1. Evolving

b3

. negative

(]

. stagnant

4. subliminal
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212315164 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212315165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LISTI LISTII
(Communication noise) {Description)
A |Semantic [ |Exusts outside of the receiver
B. |Physical II. |communicator's prejudices and biases towards another person
C. |Psychological III. | The biological influence on the communication process
D. |Physiological IV. |Linguistic influence on message reception

Choose the correct answer from the options given below:
1. A-IL, B-III, C-IV, D-I
2. AL B-IV. C-1, D-II
3. A-IV, B-L, C-II, D-III

4. A-L B-II, C-III, D-IV

Options :
1.1
2.2
3.3
4.4



Question Number : 20 Question Id : 34212315165 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A 1D 1Y FEt 11 Bl A DI

T 1 qH I
(HI0T 1 79) (@ui)
Teardf favg® | 1 |unaedl & a5k iemH war e
GG 1. |39 oafed & Uid YHuUIehd| &1 qaiig ayl &

THigEa® | 0L | Suyn Uit iR wafagrl uyE
IRRIGOES | IV. [ He= T80 R YN U4

A T6U 71U fqdh el | U It 3R &l 994 I

1. A-II, B-III. C-1IV, D-I

ola|w|s

(]

- A-IIL B-IV, C-1, D-II
3. A-IV, B-1, C-11, D-III

4. A-L, B-II C-1IL, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A school boy, travelling at 3 km/hr, reaches his school 28 minutes late but when he travels at 5
km/hr, he reachers his school 28 minutes early. What distance does he travel every day to reach
the school?

1.6 km
2.8 km
3. Tkm

4.9 km

Options :



1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212315166 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212315167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

There are three positive numbers. One third of the average of all the three numbers is § less than
the value of the highest number. If the average of the lowest and the second lowest number is 8,
then what is the highest number?

1.9

[

10
3.11

4.12

Options :
1.1
2.2



3.3
4.4

Question Number : 22 Question Id : 34212315167 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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19
2.10
3.11

4. 12
Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212315168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a school, there were 1582 students and the ratio of the number of the boys and girls was 4 : 3.
After few days, 30 girls joined the school but few boys left the school and as a result, the ratio of
the boys and girls became 7 : 6. The number of boys who left the school is?

1. 84

3.86

4.78
Options :
1.1
2.2
3.3
4.4



Question Number : 23 Question Id : 34212315168 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fopt faererd 1582 fareell € 3R T SR Il B U Bl S 4:3 11 8 fee
TY1q, 30 s ioha - faeiery H i fora g B sl o faemerd @l fean
uﬁﬂﬂﬂ%amasﬁﬁwsﬁ?ﬁaﬂaﬂqmsﬁwﬁwﬁwmwhﬁm
el g

1. 84

2.74
3.86
4.78

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the following number series?
6. 3,26, 205, B ccpmnensansmisinsn

1. 624

[

513
3.1023

4.3124

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212315169 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4.3124

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A certain sum of money becomes 28800 in 2 years at 20% per annum of compound interest
(Compounded annually). The sum of money is:

1. 324000
2.322000
3.321000

4.320000

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212315170 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



20% a1 Tshgis ST (@Iftp Fforeh) Pl o U i URITRT 2 W H 228800 71 il g
RIRIE -

1.324000
2.322000
3.321000

4.320000
Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increading abstractness:

A. Alloy
B. Metal
C. Steel
D. Mineral

Choose the correct answer from the options given below:

LGB, BUA

(o

Coa B D

(5]

CA DB

4.D,B. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212315171 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.C,B,D,A
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CyA, DB
4.D,B, A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212315172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true regarding the word *God’?

A. It is meaningless

B. it 1s meaningful

C. The word God has no intension that could be its meaning.

D. In case of word “God’, there is an intension that is its meaning.

Choose the correct answer from the options given below:
1. B and D only
2. Aand C only
3. Aonly

4. B only

Options :
1.1



2.2
3.3
4.4

Question Number : 27 Question Id : 34212315172 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212315173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

“A line 1s composed of points. Points have no length. Therefore a line has no length.” Which
informal fallacy i1s committed in this statement?

L. Fallacy of composition
2. Equivocation
3. Hasty generalisation

4. Slippery slope



Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212315173 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212315174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is logically equivalent to the statement - *“No liquids are
beverages.”?

L. All non-bevarages are non-liquids
2. All liquids are non-beverages.
3. Some beverages are not liquids

4. No beverages are liquids.

Options :
1.1



2.2
3.3
4.4

Question Number : 29 Question Id : 34212315174 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 30 Question Id : 34212315175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to Classical Indian School of Logic (Nyaya) the argument - “Sound is eternal because
it 1s produced” Is fallacious because:

L. The middle term instead of being pervaded by the presence of major term is pervaded by its
absence.

2. The locus of the middle term is impossible.

3. The middle term instead of being pervaded by the absence of major term is pervaded by its
presence.

4. Tt lacks any major term.

Options :
1.1
2.2
3.3



4.4

Question Number : 30 Question Id : 34212315175 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212315176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A security system used a camera to capture images of each person entering a gift shop. Each
image taken requires 1 MB of storage. If the camera captures an image every 3 seconds over a
24-hour of period, how much storage is required?

1.16.875GB
2.15.250 GB
3.12.525GB

4.19.625 GB
Options :
1.1
2.2
3.3
4.4



Question Number : 31 Question Id : 34212315176 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 16.875 GB

2.15.250 GB
3.12.525GB
4.19.625 GB

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to different number systems, which of the following statements is true?

L. (109)0 = (1101001),

2. (123)s = (212),

3. (101)16 + (110)g = (429)¢
4. (241)6=(131)g

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212315177 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. (109)10=(1101001),
2. (123)5 = (212),
3.(101 Yig T {110}5 o {429]1{3

4.(241)6=(131)g

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212315178 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

In the context of Bluetooth and Wi-Fi as wireless communication technologies, which of the
following statements are true?

A. Bluetooth allows for short-range data transfer between electronic devices, whereas Wi-Fi
allows electronic devices to connect to the Internet.

B. Bluetooth needs a direct line of sight for data transmission, whereas Wi-Fi does not need it.

C. Bluetooth limits the number of devices that can connect at any one time, whereas Wi-Fi is
open to more devices and more users.

D. Bluetooth does not need a direct line of sight for data transmission, where as Wi-Fi does
need it.

Choose the correct answer from the options given below:
I. Aand B only
2.Band C only
3.A,Cand D only

4. Aand C only

Options :
1.1
2.2
3.3

:No



4.4

Question Number : 33 Question Id : 34212315178 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In computers, which of the following statements is true?

1. Data matrix printer is a type of non-impact printer
2. laser printer is a type of impact printer
3. The resolution of a laser printer is measured in Megabits per second (Mbps)

4. Data matrix printers are noisy, low quality and slow in comparison to laser printers

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212315179 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Question Number : 35 Question Id : 34212315180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements about spreadsheet software (MS-EXCEL) are true?

A. Data in spreadsheets are always correct.

B. Spreadsheet software cannot draw bar graphs.

C. Spread sheet software automatically recalculates.

D. Some cells in a spreadsheet can be locked to prevent a user changing its contents.

Choose the correct answer from the options given below:

I. Aand B only
2. C and D only
3. Aand C only

4. B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212315180 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :




1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct chronological order of earliest to latest of different acts
according to their year of enactment in India?

1. The Environment Protection Act, Air (Prevention and Control of Pollution) Act, Water
(Prevention and Control of Pollution) Act

2. Air (Prevention and Control of Pollution) Act, The Environment Protection Act, Water
(Prevention and Control of Pollution) Act

3. Water (Prevention and Control of Pollution) Act, The Environment Protection Act, Air
(Prevention and Control of Pollution) Act

4, Water (Prevention and Control of Pollution) Act, Air (Prevention and Control of Pollution)
Act, The Environment Protection Act,

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212315181 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212315182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Benefits of biodiesel over pertodiesel are;

A. Biodiesel contains virtually no sulfur

B. Biodiesel emits substantially lower carbon monoxide (CO)

C. Biodiesel is a better lubricant than petrodiesel.

D. Biodiesel emits significantly lower Oxides of Nitrogen Oxides (NOy) than petrodiesel.

E. Particulate emission by biodiesel is much lower that that of petrodiesel.

Choose the correct answer from the options given below:

I.A,B,C,Donly
2.B,C, D, E only
3.A,B,C,Eonly

4.A,B.D.E only

Options :
1.1



2.2
3.3
4.4

Question Number : 37 Question Id : 34212315182 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following came as alternatives to chlorofluorocarbons (CFCs) as refrigerants?

A. Hydrofluorocarbons
B. Perfluorocarbons

C. Hydrochlorofluorocarbons
D. Halons

Choose the correct answer from the options given below:

[.A,Band Conly
2.B, Cand D only
3.Band D only

4. Aand C only

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212315183 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :



1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212315184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is true about over fertile lake?

—

. Nitrate level decreases

[

. Depletion in algal productivity
3. Oxygen level increases
4. Quality of fishes produced is impaired.

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212315184 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafead 7 9 S Hu 3ifd-3ueis 3id & aR H 951 62
AEce TR H HHI A B

T SATGdHdT & g
 SfffieH TR | 9fg gt B

4. JdTGd HBTerl B uraT &fivr gidi g

Options :
1.1
2.2
3.3
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Question Number : 40 Question Id : 34212315185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Temporary hardness in water is also known as:

—a

. Sulphate hardness

(i)

. Nitrate hardness

(el

. Chloride hardness

4. Carbonate hardness
Options :
1.1
2.2
3.3
4.4

Question Number : 40 Question Id : 34212315185 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212315186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Under the Universities Act of 1904, universities were given the authority to recognise:

L. School boards

2. Literacy missions
3. Elementary schools
4. Secondary schools

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212315186 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



One of the subjects taught at ancient Nalanda University was:

. Astronomy

(i)

. Chemistry

(el

. Metaphysics

4. Mathematics
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212315187 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 43 Question Id : 34212315188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What was National Knowledge Commission's recommendations for minimum gross entrolment
ratio to be achieved in higher education by 20157

1. 5 percent
2. 10 percent
3. 135 percent

4. 20 percent

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212315188 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212315189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the functions of Indian Council of Social Science Research?

A. Encourage delinking of social sciences from natural sciences
B. Provide scholarship for research in social sciences.

C. Give financial support to institutional journals of research.
D. Promote social science research.

E. Blacklist non-performing social science institutions from time to time.
Choose the correct answer from the options given below:

I. A, Band C only

2.B.C and D only

3.C.Dand E only

4. A, D and E only

Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212315189 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The period between 1200 and 1764 AD was remarkable in India for the highest distinction
attained by:

L. Popular literature
2. Vernacular literature
3. English literature

4. French literature

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212315190 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
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Question Id : 34212315191 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension

Read the following passage carefully and answer the questions:

Until recently, little was known for certain about how the brain changes as children age and grow.
Considerable progress is being made in charting developmental changes in the brain, although
much 1s still unknown.

The number and size of the brain’s nerve endings continue to grow at least until adolescence.
Some of the brain’s increase in size also Is due to myelination, a process in which many cells of
the brain and nervous system are covered with an insulating layer of fat cells. This increases the
speed at which information travels through the nervous system. Myelination in the areas of the
brain related to hand-eye co-ordination is not complete until about four years of age. Myelination
in brain areas that are important in focusing attention is not complete until the end of the
elementary school vears. The implications for teaching are that the children will have more
difficulty focusing their attention and maintaining it for very long in early childhood but their
attention will improve as they move through the elementary school years. Even in elementary
school and later, many educators believe occasional short breaks sustain children's energy and
motivation to learn.

Another important aspect of the brain’s development at the cellular level is the dramatic increase
in connections between neurons (nerve cells).

Synapses are tiny gaps between neurons where connections between neurons are made.
Researchers have discovered an interesting aspect of synaptic connections. Nearly twice as many
of these connections are made than ever will be used.

The connections that are used become strengthened and will survive, while the unused ones will
be replaced by other pathways or disappear.

Sub questions

Question Number : 46 Question Id : 34212315192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The number and size of the brain's nerve endings continue to grow till:

1. Elementaty school vears

[-2

. Early childhood

LS

. Adulthood

4. Adolescence
Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212315193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following facts about Myclination are correct?

A. Tt increases the speed at which information trevels through the nervous system.
B. It is responsible for increase in size of the brain.

C. It i1s completed in all areas of the brain by age four.

D. Knowledge about it dies not benefit us in any way.

Choose the correct answer from the options given below:

l. Cand D only
2.B, Cand D only
3. Aand B only

4.A.CandD only

Options:
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following facts regarding synaptic connections are correct?

A. Connections that are used are weakened.

B. Twice as many connections are made than ever will be used.

C. Unused connections either disappear or are replaced by other pathways.
D. Connections that are used perish.

Choose the correct answer from the options given below:

1. A, B and D only
2. B and C only
3. Aand D only

4.B. C and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212315195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

As children grow their attention span focus

1. Remains static

(i)

. Improves

LS

. Declines msignficantly
4. Declines significantly

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212315196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Synapses are considered as:

1. Timely gaps between neurons where connections between neurons are made,
2. An element responsible for blood circulation in the brain

3. Large gaps between neurons where connections between neurons are made
4. One and only particle of the brain related to hand-eye-coordination.

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315191 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212315192 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TGS o1 i1 & R &1 S a1 iR 4 7Y AR § $d dd i gldl g
1. ST faeer & avf dob

2. 3RIHS IR dD

3. 99%pdl dd
4. foURGRI dd

Options :
1.1



2.2
3.3
4.4

Question Number : 47 Question Id : 34212315193 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212315194 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. HadB R C
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4. HddA B, C AR D

Options :
1.1
2.2
3.3
4.4

Question Number : 49 Question Id : 34212315195 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
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Question Number : 50 Question Id : 34212315196 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3

4.4

Management

Section Id : 342123201
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92
Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123597
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212315197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Robert L Katz identified three kinds of skills for administrators. Which among the following
skills was NOT identified by Katz?

1. Technical skill
2. Human skill
3. Design skill

4. Conceptual skill

Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212315197 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :

1.1

2.2

3.3
4.4

Question Number : 52 Question Id : 34212315198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“The right that is delegated to an individual or department to control specified processes,
practices, policies, or other matters relating to activities undertaken by person in other
departmentts” 1s called:

1. Product authority
2. Functional authority
3. Temporary authority
4. Service authority

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212315198 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 3T TSR
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3, SR TSR
4. YA RIS

Options:
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212315199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When we measure what type of demand we assume that effects of other variables is constant?

1. Revenue and price elasticity of demand
2. Gross elasticity of demand

3. Income elasticity of demand

4. Promotional elasticity of demand

Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212315199 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. I 1 31 Al
4. T 1 HayiaTsd A

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212315200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The structuralist theory of inflation was proposed by :

1. G. Myrdal and P. Streeten

(i)

. V.N Pandit

(el

. Milton Fredman
4. Fritz Machlup

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212315200 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A sum total of ways in which an individual reacts and interacts with others is called:

L. Perception
2. Attitude
3. Personality

4. Values
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212315201 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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W_Cﬁ :

1. 3@ay

2. 3i¥gf
3. ki

4. Hcd

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Whistle blowing is:
1. The choices made from among two or more alternatives
2. A discrepancy between some current state of affairs and some desired state
3. Reporting unethical practices by their employer to outsiders
4. Refers to choices that are consistent and value maximising

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212315202 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212315203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A phenomenon in which the norm for consensus overrides that realistic appraisal of alternative
course of action is:

1. Groupshift
2. Groupthink
3. Brainstorming

4, Nominal group technique

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212315203 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. TRl
2. GGl
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Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The procedure for determining the duties and skill requirements of a job and the kind of person
who should be hired for it is :

1. Job description
2. Job analysis
3. Job specification

4. Tob evaluation

Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212315204 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Formulating and executing human resource policies and practices that produce the employee
competencies and behaviours the company needs to achieve its strategic aims” is called?

I. Strategic human resource Management
2. Strategic human resource Planning
3. Strategic human resource Auditing

4, Strategic human resource Evaluation

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212315205 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212315206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who has developed the HRD scorecard?

1. T.V Rao

(i)

. Peter F. Drucker
3. J. Friedman
4. 1. Bright

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212315206 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 61 Question Id : 34212315207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“The process for enabling employees to better understand and develop their career and interests
more effectively” is termed as ?

. Career Planning
2. Career Management
3. Career Development

4, Career Counselling

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212315207 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the belief among pluralists regarding conflict in organisation?

1. Conflict is unnecessary and should be avoided at all cost

[-2

. Conflict is necessary and should be ignored
3. Conflict is necessary but it can be managed and resolved

4. Conflict should be eliminated through strict rules

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212315208 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What 1s the value of cost of capital after tax in a perpetual bond sold at par, coupon rate of
interest being 7 per cent. Assuming that firm pay tax at a 50 per cent rate?

1. 7%

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212315209 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 7%
2.35%
3.5%

4.3.5%
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If profit before interest and tax is Rs.10000, provision for Tax=Rs.5000, No. of Equity Share =
3000, Preference dividend = 2000, Dividend per equity share=0.40, what is the value of payout
ratio?

1. 10%
2.20%
3.50%

4. 40%
Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212315210 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. 10%

2.20%

3.30%

4.40%
Options :
1.1
2.2

3.3
4.4

Question Number : 65 Question Id : 34212315211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Prepaid salary is which type of account ?

1. Personal Account

(i)

. Real Account

(el

. Nominal Account

4. Both Personal and Real Account
Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212315211 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



From the following information :

Year 2021 2022
Sales R=.32.00.000|Rs.57.00.000
Profit Loss | B 3.00.000 |Es.7.00.000

What is the value of P/V ratio?

1. 16%

[

. 40%

4.25%
Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212315212 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 25%

Options :



1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

It Rf=10%, Rm=18% and Bi= 1.35, What 1s the expected rate of return for security?

1.28.8%

[

. 18.8%
3.8.8%

4.20.8%
Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212315213 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qf¢ RE= 10%, Rm = 18% 3R Bi = 1.35, T Wdyfd & Uidhel &l A1 & q gty

1.28.8%

[

. 18.8%
3.8.8%
4.20.8%

Options:
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315214 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

Which one of the following cost arises due to the failure of the customers to meet their
obligations when payment on credit sales become due after the expiry of the credit period?

L. Collection costs
2. Capital costs
3. Delinquency costs

4. Default costs

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212315214 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A company paid a dividend of T 3.70 in the previous vear. The dividends in the future are

expected to grow perpetually at a rate of 8 per cent. What is the share price today if the market
captalises dividend at 12 per cent?

1.2.40
2.3.33
3.%.100

4.3.200
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212315215 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1.%.40

2.%.33
3.%. 100

4.%. 200

Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212315216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is Walter's formula to determine the market price per share?

plv r(EPS-D/V)/K
= +
K K

D/V r(EPS-DIV)
K # K
Options :

1.1

2.2

3.3

4.4

4. p=

Question Number : 70 Question Id : 34212315216 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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D/v r(EPS-DIV)/K
= +
K K

3. p

D/V r(EPS-D/V)
4. p= "
K K

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315217 Question Type : MCQ Option Shuffling : No



Correct Marks : 2 Wrong Marks : 0

“Dividing a market into smaller segments of buyers with distinct needs, characteristics or
behaviours that might require separate marketing strategies or mixes™ is termed as?

I. Market Targeting
2. Market Segmentation
3. Market Differentiation

4. Market Positioning

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212315217 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Consumer buying behaviour in sitvations characterised by high consumer involvement in a
purchase and significant prescribed differences among brands™ is termed as:

I. Complex buying behaviour
2. Dissonance-reducing buying behaviour
3. Habitual buying behaviour

4. Veriety-seeking buying behaviour

Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212315218 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who has propounded the *Diamond of National Competitive Advantages’ model of corporate
level strategies?

1. M. E Porter
2. H. I Ansoff
3. 1B Barney

4. Peter F. Drucker

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212315219 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who has suggested the 7-S framework for organisational change?

1. Mckinsey

(i)

. Peter Drucker

(el

. Dale Yoder
4. Mintzberg

Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212315220 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(g

Question Number : 75 Question Id : 34212315221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is true about service marketing?

1. Services can be seen, tasted, felt, heard or smelled before purchase
2. Services can be separated from the service providers

3. Quality of services depends on who provides them and when, where and how

4. Services can be stored for later sale or use
Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212315221 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following movement of products clearly defines the term “Inbound Logistics™?

L. Suppliers to company
2. Company to Reseller
3. Reseller to Customer
4. Customers to Suppliers

Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212315222 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is a type of off-price retailer?

l. Super store

(i)

. Category killer
3. Factory outlet

4. Discount store
Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212315223 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

[

Question Number : 78 Question Id : 34212315224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is true about the role of sales force/personal selling?

1. Personal selling consists largely of non personal communication with large group of
customers

2. Personal selling is interpersonal arm of promotion mix
3. Personal selling is less effective than advertising in more complex selling sitvations

4, Personal selling sales force is not allowed to adjust marketing ofter and presentation to fit
each customer's special needs

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212315224 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is true about the term “KAIZEN™?

|. KAIZEN s dramatic, a real attention getter. It is like magma that appears in abrupt eruptions
from time to time

2. KAIZEN involves all the activities directed towards maintaining current technological,
managerial and operating standards and improving current standards

3. KAIZEN is subtle and its results are seldom immediately visible. It is an ongoing process
and involves entire organisation

4. KAIZEN is seen as major changes in the wake of technological break throughs or the
introduction of latest management concepts or production techniques
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212315225 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4




Question Number : 80 Question Id : 34212315226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The mean of binomual distribution is 40 and standard deviation 6. What is the value of n?

1. 36
2. 360
3.400

4. 40
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212315226 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 36

-2
Lad
o
=

3. 400
4. 40

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is a non-parametric test
J)
l. x*- test
2. t- test
3. z-test

4. F-test

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212315227 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafciRad o 9 &H-91 smiafad uie g2
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3. OIS TRI&T
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4, T TR0

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Find the initial feasible solution of the following transportation problem by Vogel's
Approximation Method (VAM).

To
Wy | Wy | W3 | Supply

K 16 | 20 | 12 | 200

F 141 8 |18 | 160

F; 26 |24 |16 | 100
460

460

Demand | 180 | 130 | 150

1.2 6060
2.36660
3.26000

4. 26600
Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212315228 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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FEo[16]20 |12 20
(148 [18] 160
Foo[26]24]16] 100
460
460

dd

am |180 (130|150

1. 6060 ¥
2, 6660 ¥TU
3, 6000 39U
4, 6600 30U

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212315229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is a type of Foreign Direct Investment?

|. Greenfield Investent

[

. Foreign Portfolio Investment

(]

. Qualified Foreign Investment

4. Commercial loans
Options :
1.1
2.2



3.3
4.4

Question Number : 83 Question Id : 34212315229 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfarad # 9 $H-91 Ude fae=i M99 &1 UaR g2
1. JHpes Faw

- Td facel faw

4. ATiUTfsad U]

(o

[

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following in NOT a technique of foreign trade financing?

1. Discounting

2. Banker's Acceptance
3. Factoring

4. Forfeiting

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212315230 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fFrafeiad o 9 $1H-91 faqzh SR faquive &1 ddb-iid el g2
EH

K CTEaEsican

3. 3fgfaar

4, STl

Options :
1.1
2.2
3.3
4.4

—a

[

Question Number : 85 Question Id : 34212315231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which one of the following is NOT a component of Balance of Payments?

1. Official Reserves Account

[

. Current Account

el

. Deficit Account
4. Capital Account

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212315231 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafaiRad 1 9 & -1 YIdH Yddd & 9ed Jel 27
1. YRR =g @I

[

EIESIG|

3. 91T drdl

4. Joit Wrdl

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following helps in Business decision making in ill-structured decision situation
often using complex spreadsheet by creating “what if” models for manager?

I. Management Information System (MIS)
2. Decision Support System (DSS)
3. Knowledge Work System (KWS)

4. Executive Support System (ESS)

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212315232 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FRfoiad ¥ ¥ PIH-91 el ! o for <7 T Gioid oY 3R wiied Blsie &1 Jam 6
3] ANE R vt uRTesfel  oragr e § 9gud gl 2

1. ¥ ST YOl (TH 3113 0
2, 01 Tl omel (STewg)

3. JF B OITel] (o S&Y TH)

4. TR T T (€ O )

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212315233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which type of Intrapreneur is known for generating innovative ideas and seeking ways to
improve process?

I. Employee Intrapreneur
2. Doers Intrapreneur
3. Creator Intrapreneur

4. Implementers Intrapreneur

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212315233 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



{8 Wb T Sl 1= faaRT o o1 b el SR Wbl o GeIR b el AT offe 2
1. il et
2. garg gl
3. fopucR st
IRURIBERREE

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In which of the following Association/organisation Ela Bhatt is associated?

1. Mukta Services
2. Lijjat Papad
3. Self employed women's Association

4. Avva Global connect

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212315234 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212315235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What can lead to the withdrawal of status respect according to Hagen's theory of
Entrepreneurship?

1. Increased recognition from the group
2. Perception that efforts and purposes are highly valued
3. Belief in the stability of status symbols

4. Perception that efforts and purposes are not valued by others

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212315235 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



o @ Tl & [T & YR SR HIHH & YIERo b1 3R @1 o O Hebell g2
1. GUE 9 e UgaH e

2. g Haaiy b T SR IE ! 1 a5l oM I 8
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4. Tg Sfaate e vl SR IeRal &1 quRi o foe ged 181

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the primary objective of a feasibility study?

1. To persuade investors to fund a project

b3

. To assess the historical background of a business
3. To uncover strength and weakness of a business idea
4. To outline the technical development process

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212315236 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Ged] 3T B UIAHS 3640 1 82
1. Ta=I! &1 U URASHT &I 1Y UaH &3 & 1o 7M1

U AqY &1 UfdeTbd UEYH BT b Hl
Uh A fddR &1 Udadisfl R geddis &f 3H1gd Hel

4. AP [dBM Ulchar &I FU3@] g1

Options :
1.1
2.2
3.3
4.4

I3

LS

Question Number : 91 Question Id : 34212315237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the steps in demand forecasting from beginning to end

A. Specifying objectives

B. Making choice of methods

C. Determing the perspective

D. Estimation and interpretation of results
E. Collection of data and data adjustment

Choose the correct answer from the options given below:

1A B D CE

(]

G A B DB

LS

A0 B8 B E
4.4,C,B,ED

Options :
1.1
2.2
3.3
4.4



Question Number : 91 Question Id : 34212315237 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T & YT & RN &l YR ¥ 3{ db AdUd Be:

A. Il Bl FIGY AT

B. fafeil &1 TH1d ST

C. URUeg BT YR BT

D. URUIH! BT 3TdHd 3R SRS Bl

E. 3ibsl 3R Hibal & GHRISH BT GUSU HIA]
T fSU U fadedl § U T 3R &1 994 HIfoU:

1.4, B, 1, C.F

b

4B DB
3.BADE

4. A.C,B,E.D
Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212315238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the major steps of Luthan's 0.B. Mod approach to behavioral performance management
from earlier to later

A. Measure
B. Identity
C. Intervene
D. Analyse
E. Evaluate

Choose the correct answer from the options given below:

I.AB,C.D,E
2.B,C,D,E.A
1LACBED

4.B,A,D,C,E

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212315238 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AN FERi WoR o g o ol ol TS, JUFTH o G TRl o IR 9§ a7 o
AR e

A HIUA

B. UgdH
C. g&IaT
DNCEGLL

E. HedidA
i fu e fadedl 4 4 @8t IR 1 90 BifT:

1A BCDE
2.B,C.D,EA
LA CBED

4.B,A,D,C,E

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212315239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the Five Stages of Conflict Process in proper sequence from beginning to end

A. Potential opposition or incompatibility
B. Intentions

C. Cognition and personalisation

D. Outcomes

E. Behaviour

Choose the correct answer from the options given below:

L& C.ERD
28 CBED
3.A,B,CD.E
4.A,D.E,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212315239 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Y9y UichaT & Ui RN Bl URFH U 31 deb 3id H H g Yd $Hio

A. TRTET Uicggl AT AT
B. 3UU™

C. UM 3IR Jgfaddidmul
D. Uidhel/giRome

E. ddgi

id feu U fadedl § 9 F8T IR &1 99 BT

1.A,C.E.B,D

2.ACBED
3.4, B C. DE

4. A,D,E,C,B



Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212315240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the career management process in proper sequence from begining to end.

A. Assessment

B. Strategy

C. Career planning

D. Career evaluation

E. Career Development

Choose the correct answer from the options given below:
1.A,B,C.D.E
s BaaCED
3.A,B,D,C.E
4. B, A, D, C.E

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212315240 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



BRI U= UlhdT ®l URM Y 3d & 3d HH H AR Heo

A. 3ATHa
B. YUHITA dOR &A1
C. HRUR TISHI-AHIT
D. HRAR i

E. PR [dH™g

= fGU U [9dhedl § ¥ @gT IR &l 994 DI

1. A,B.C,D.E

2B.AGCED
A B DO E

4.B,A,D,C,E

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212315241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the Repatriation process in proper order as given by Peter J Dowling.

A. Preparation

B. Transition

C. Physical relocation
D. Re-adjustment

Choose the correct answer from the options given below:
1.A,B,C.,D
LA R D
3B.ACD

4.4,D,B,C

Options :



1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212315241 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Uiex of. SI3{elT SaRT Ued UAarygH Uihal &f 3fd F | af&Ud ©i?
A, EFH’\’

B. YhHUI
C. Hifereh G
D. T GHEHA

A feu U 9w eul § O 3T IR &1 98 SIT:

1.A,B,C.D

[

A, C.B.D
3:B,A,CD
4 A.D,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212315242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following components of cost sheet in proper sequence starting from first to last.

A. Cost of sale

B. Cost of production

C. Raw material consumed
D. Factory cost

E. Prime cost

Choose the correct answer from the options given below:

1.A,B,C.D,E
2.C,D,E,B,A
3.C,D,EAB
4.C,E,D,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212315242 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AN T & [FEIeRad 9ol &l URH T 3id & Ugl vH H aiyd I

A. fapt 1"

B. 3G ®I dlId

C. JUYITT PI TS Dl Tl
D. HRAH Pl AT

E. Jd dTd

Hid feu e fadhetl § ¥ TaT IR &1 989 Sl

1.A,B,C,D,E

2.C.D.E,B,A
3.C,D,E.A,B

4.C,E,D,B,A



Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following developments in International monetary system in the order of sequence
starting from oldest to newest;-

A. Gold standard

B. Smithsonian arrangement
C. Specie commodity standard
D. Floating Rate Regime

E. Fixed Party System

Choose the correct answer from the options given below:

I.LA,C,B,E.D
2.B,A,CED
3ECADR

4.C,AE.B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212315243 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



IR At Torch # FrafiRad fadTa bl Jieiae @ T & w H oIafud &

A W0 HHS

B. i forg
C. Eldig 7ug A
D. IR &Y UG
E. fTad AdT Tt

il fu Tu fadhed! 4 @ 5T IR 19U oI
1.A,C,B,E.,D
2BACED
3.E,C,A, D.B

4.C,AE,B,D

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212315244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the Hambrick and Fredrickson model of strategic management in proper sequence from
beginning to end.

A. Vision and mission

B. Goals and objectives

C. Internal and external strategic analysis

D. Implementation Levers and strategic leadership

E. Strategy arenas vehicles differentiators staging economic logic

Choose the correct answer from the options given below:

I.LA,C,B,D.E
2.A,B,EC,D
3.4, B,CDE

4.B,A,C,D,E



Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212315244 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR XU & gAfs® IR iSa Hied & R Y 3id & 33HA § afed Hifoly
A. TdH 3R A

B. 7&7 3R 3£ 20

. 3fiaRa 3 aTg] U1 fazerso

D. BT &R AR MNP Hdd

E. WA & d1gd fatlad IRur ol ddb

i fGu u fadedl @ ¥ @E IR A1 9 DI
1.4, CB;D.E
2ABECD
LABCDE

4.B,A,C,D,E
Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212315245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following Buyer-Readiness stages in correct sequence from starting to end.

A. Knowledge
B. Awareness
C. Preference

D. Conviction
E. Liking

Choose the correct answer from the options given below:
I.B,AE,C,D
2B E D E
3.B,E,ACD
4 EAB.D.C

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212315245 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfeiRad ol - TRAT TRUN &l YR Y 3] 0P Ul hH H Haid Sifor
A
B. SREdhl
C. R
D. €odl
E. U0

{4 leu U f9d el § 9 987 SR &1 994 ST
LB, AE, C, D
2ABCIDE
3.B,EACD

4.E,A,B,D,C



Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212315246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Historical Events in operations management in the order of sequence
starting from oldest to newest,

A. Quality Revolution

B. Scientific Management
C. Industrial Revolution
D. Operations Research
E. Human Relations

Choose the correct answer from the options given below:

1.C.B,E,D.A
2.B,C,D,E, A
3.:A;B,D,C, E

4ECBAD

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212315246 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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GAIE
A. ORI Hsitft i
B. A Telefd
. 3T ifd

D. I Y
E. AMd 4qy

46U e foedl § Y gt IR BT 95 DI

.C.B.EDA

et H FfiRdd UagRis g3l & UHdH U FdHaH & HH H aied

2.B,C,D.E. A
3.4,B,D,C E

4ECBAD

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following procedures of testing hypotheses in proper sequence.

A. Making decisions

B. Setting a test criterion

C. Set up hypothesis

D. Set up suitable significance level
E. Doing computations

Choose the correct answer from the options given below:

1.C,D,B,E, A
2.B,C.D.A,E
3.C,D.A.B.E
4.D,C,B.E.A

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212315247 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R a1 Ui &l FUfaRad Ul o1 9l &H H aiiyd Sifeu.

A, U &A1
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1.C DB E A
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B, C.DAE

3.6, DA BE

=

.D,;C,B,E. A



Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Trade Negotiation Rounds of World Trade Organisation in the order of
their occurrence from oldest to latest:

A. Bali Conference

B. Geneva Conference

C. Hong Kong Conference
D. Cancun Conference

E. Doha Conference

Choose the correct answer from the options given below:
I.LA,B.CLE,D
2.B,C,D,E, A
3.A,B.C,D,E

4.E.D,C.B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212315248 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[d% SUTUR W& o (G TRdd TR ardll 9h B 30 A1 & Uy Ugdl U FdIHdH &
$1 1 aafRyd Hifo

A, 9Tl G
B, S-d] GHIgH
C. §Y1-IT e
D. HIHG GHHGH
E. Glg] THeH

A feu mu fadedi  § Wt S &1 9EH il

I.LA,B,C,E.D
2.B,C,D,E,A
3.4, B,CDE

4.E,D,C,B,A

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212315249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following stages/elements of technology management in proper sequence starting
from first to last:-

A. Technology Adaptation

B. Technology Abandonment
C. Technology Advancement
D. Technology Acquisition
E. Technology Awareness

Choose the correct answer from the options given below:
I.A,C,D,B.E
2.B,C,D,AE
3. E.DACB

4.D,C,A,B,E

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212315249 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ui seH & Fafarad oo &1 TuH 3 3w 31 4R I8 oA # oafE Bifof.
A, Tt 3
B. U] Ui
C. Ui fadrg
D. Vel yrau
E. TIEfo! STReddl
i feu e fadhedi 1§ 9 75T IR &1 T PIC
1.A,C,D.B.E
2.B.C.D.AE
3EDACB

4.D,C,AB.E



Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212315250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the Project Life Cycle phase in proper sequence from starting to end.

A. Definition phase

B. Conception phase

C. Implementation phase

D. Planning and organising phase
E. Project clean-up phase

Choose the correct answer from the options given below:
1.A.B,D.E.C
2.B.ADCE
3.B,A,C,D.E
4. E.AC.I,B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212315250 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UGS SHa-2eh UIadl &1 YR™ Y 3 ddb 3FId B H aieyd &1
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B. 3AYRUN UG

C. BT WG]

D. TSI 3R IR YIae]
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A flGu U fadhedl # O @81 3T &1 994 DI

1.A; B, D,E, C

2.B,A,D,C,E
3.B.A.C,D,E

4.E,A,C,D.B

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212315251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the financial institutions according to their formation from latest to earliest.

A. Industrial Finance Corporation of India

B. Regional Rural Bank

C. National Bank for Agriculture and Rural Development
D. National Industrial Development Corporation

E. The Reserve Bank of India.

Choose the correct answer from the options given below:

1.B,C.A, D,E
2.C,B. DAE
3. B, D E A

4.ABCIDE



Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212315251 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

farefta Syl 1 3 FHI0 & Addg I UrdHad & hHHER Hafyd H3
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B. J5d T o (&g I1H10 dh)

C. 979 4 BR TR T8 T SddUHT
D. I SUSCTT SdeUHC HIURTH

E. ¢ Roid da 3 3Ugg]

Hid feu U fasedl § ¥ 8T IR &1 999 DI

1.B, C;A; D, E

2ZEBR D AE
3.B,D.E,CA

4.A,B,C,D,E
Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212315252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The major strategies and policies, for a business enterprise, that give an overall direction to
operations are likely to be in which of the following areas?

A. Growth
B. Finance
C. Needs

D. Personnel
E. Marketing

Choose the correct answer from the options given below:

I.A,B,Cand D Only
2.B,C,Dand E Only
3. A, B,Dand E Ounly

4.A,C,Dand E only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212315252 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



U H[GHIfd IeH b feI, Sarer bl 9o TR FEe & arell e Ao 3 Hiferaf
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B. fdd

C. B
D. $I®

E. fauuH

Al e T fawedt 6 ¥ Hg1 IR &1 90 BT
1.A.B,C3RD
2.B.C.DIRE
3.A.B.D3RE

4.A.C.D3IRE

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212315253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



John Challenger suggested that we should consider certain things in acting more ethically in
downsizing. What things he sugegsted?

A. Planning

B. Pessimism about the future of the company
C. Emotions

D. Timing

E. Stakeholder perception

Choose the correct answer from the options given below:

I.A,C,DandE Only
2.A.B, Cand D Ounly
3.B,C.Dand E Only

4. A,B,Dand E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212315253 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



W defoR 3 8 Y319 1631 9 SR &A1 1 g1 B divil ol 31fileh e ¥ ¥ faar
H M1 QT | St fobet <l o gt feam

A, TS FH

B. HF! & HidW & I H RIS gl
C. HaT

D. §A- R
E. [ga4R® &1 3galy

el Fe TC fachedt # 9 gt SR @1 9 BT
1.A,C,D ¥R Ebad

2. A.B,C 3R D Had

3.B.C.D 3R E ddd

4.A,B,D IR E Bad

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212315254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In Flow Model. associated with forecasting personnel needs, the forecaster will-

A. Determine the time that should be covered.

B. Establish categories to which employees can be assigned.

C. Will not estimate the probability of transition.

D. Will solicit estimate of personnel needed from group of exports.
E. Count annual movements among states for several time period.

Choose the correct answer from the options given below:
1. A,Band C Only
2. A. B and D Only
3.A.Band E Ounly
4. B, C and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212315254 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

G ARG A & HidHYT U Teg Ul Algd H Hidwdrds Hl:

A. T 91l G BT (4RO B4

B. 3 91 &1 RITT1 3 o Al bl Gade Rrd fhdr ol Gebell g

C. GpHUll D1 WIS BT AThe g Bl |

D. fa=I%=ll & g U BIEid! Bl SMaRudhdl &b SMdba 3l [Hded Hl|

E. 9gd Ul SIeraiedl & o Il & i diftie Sl & 01 H |
A1 feu T fadbed! H ¥ gl SR &1 90 I

.AB3RC

2.A,B3RD

3.A,B3RE

4.B.C3RD




Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212315255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the Model of Organisation Development Process of H.M.F Rush in proper sequence
from beginning to end.

A. Problem Recognition

B. Organization diagnosis

C. Feed back for change strategy
D. Interventions

E. Measurement and Evaluation

Choose the correct answer from the options given below:
LABCDE
2ABCED
3.B,A,C,D,E

4.C,A,D,B,E

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212315255 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



g. UH. U, T2 & U173 (bR UichaT & AISd &I YR U 3 ddb 3fad $H H aaid

A. 91 Bl UgdH
B. U116 feH
. UiRda drifd & ferw wiag®

D. 4T
E. 910 3R Jedid

i G U faded! 9§ Y FpT IR P 90 BIL:

I.A,B,C,D,E

2.8 B,CED
3.B,ACDE

4.C,A,D,B,E

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212315256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the followings are Career Development Initiatives?

A. Career Planning workshops.
B. Mentoring

C. Career Counselling

D. Coaching

E. Personal Development Plans

Choose the correct answer from the options given below:

1. A, B, Cand D Only

(o

. A, B, CandE Only

5]

.B. C,D and E Only
4. A, C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212315256 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

FafaRgd § ®H-4 gii-faey & ugd g2

A. 9T ioTdl SR
B. fayyig e
C. it IRE

D. BIfdT

E. NG [dH1 FIoH

-4 fau MU fadedl § I FgT SR BT 99 DI
I.hdd A, B, C 3R D

. $Hdd A, B, C 3R E

$HIdAB, C,D ARE

4. Hdd A, C.D 3RE

(]

L]



Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212315257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are settlement machineries of industrial disputes under Industrial
Disputes Act, 19477

A. Works Committee

B. Collective Bargaining
C. Conciliation

D. Adjudication

E. Voluntary Arbitration

Choose the correct answer from the options given below:

I. A, B.CandD Ounly
2.A.C.DandE only
3.B.C,Dand E Only

4.C,Aand D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212315257 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



EfiRad H SH-3M AN fdare M, 1947 & SAdvid AT [dane] &1
GHIGIYH Tl g2

A. DY TiHfd
B. WIH{gP Hicarsi

C. §de
D. 3

E. Wiad UHg

T fGu T fasetl © 9 g SR &1 99 BifC:
|, $dd A, B, C IR D

2. Hdd A, C,D ARE
3. $9dB.C.D AR E
4. HAAC.ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212315258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In which of the following cases there will be Flow of Funds?

A. Purchase of Building for cash

B. Cash collection from debtors

C. Cash payment to creditors

D. Issue of share for cash

E. Payment of creditors by issue of shares

Choose the correct answer from the options given below:

1. A. Band C Only

(]

. B and C Only
3. A, Cand D Ounly
4. A, D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212315258 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafarad # 9 foo1 Al | [l o1 yareg g

A. F$H¢ gGRI Ydq ol Wilg

B. BUIGdl U AHG ol

C. BUIGTA] DI TG YIIdH

D. T & gRT AR 1 HAT

E. R 10 S BUTArsil o1 YirdH

i feu MU fadhedl © O gat 3R &l 994 SHifoie:
1.$dd A, B3R C

2. Had B 3R C
3. Had A, C 3R D
4. HAd A, D 3R E




Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212315259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are correct formulas of combined leverage?

% Change in EPS

A.DCF= :
% Change 1n Sales
B. DCF = Contribution
Profit before Tax
¢ DCF - Contribution
Profit after Tax
D. DCF = EBIT + Fixed Cost
PBT
E DCF = Change in EBIT

Change in Sales

Choose the correct answer from the options given below:

1. A, B and C Oanly

(i

. B, C and D Only

[

. A, C and D Only

4. A, B and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212315259 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



FETCIRGd | S H-91 U Sdlc (HHIeS dlds)) bl gl BiHdl g7

EPS # wigrra ofiade
A.DCF =
T #f widera afiEd
HE
B. DCF g
HAETH
C —
DCF & & e o

D.DCE = Em-mm CICG

_ EBIT #9Rads
E.DCF = -

I fGu T fadcdl § ¥ @87 3R &1 994 DI
I.Hdd A, B, C

2. $ddB.C.D
3. HddA. C.D
4. $dd A.B.D

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212315260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are correct with respect to foreign exchange market?

A. Short position = Supply of a currency < demand for currency.
B. Short position = Supply of a currency = demand for currency.
C. Long position = supply of a currency > demand for currency
D. Long position = supply of a currency < demand for currency
E. Square position = Supply of a currency= demand for currency

Choose the correct answer from the options given below:

1. A, C and E Only
2.B.D and E Only
3. B. C and E Only
4. A, D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212315260 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fac = fafHg 9uiR & g | FgfRad § U &= U gl 82

A. Y T = H21 BT MUfd < &1 1 Hi
B. oY f&Ufd = Gar &l 3yfd = gar &1 gin
c. &Y fRufd = gg1 3t SMYfd > a1 1 afn
D. &Y Tfd = G&T P1 3Yfef < Gor b1 [
E. 99 TG = Ga1 &1 3MYfd = ga1 &1 g

i feu MU fadhedl © O gat 3R &l 994 SHifoie:
. Hdd A, C 3R E

" $HId B, D3R E
. $Hdd B, C IRE
4. HAd A, D 3R E

(]

LS



Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212315261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are merits of Internal Rate of Return Method of Capital Budgeting?

A. Consider all cash flows

B. Satisfies the valve additivity principle

C. Generally consistent with wealth maximization principle

D. It considers the time value of money

E. It never fails to indicate correct choice between mutually exclusive projects.

Choose the correct answer from the options given below:

I.A,Band E Only
2. A, Cand E Only
3.B,C and D Only
4. A, C,and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212315261 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gfcfdd § B 4 ofl goint o Yabd b1 iR & fafd] ol faivard &

A, Gl Tt varel W R aecll

B. Hcd UM g &1 Gf el @

C. WY St ameRYI g & W WA Y

D. Ug 4 & T el R fqdR el §

E. 7 WRER o URAISHIS! & did §e) 9 &1 o o H bl SFqwa el gl

i fGu u fadhedt § 9 Wt ST &1 7 Bt
| dd A, BIRE

). Had A, C IRE
3.Had B, C AR D
4 BIAA. CIRD

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212315262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are the modes of strategic decision making according to Miztzberg?

A. Entrepreneurial Mode

B. Adaptive Mode

C. Planning Mode

D. Logical Incrementallisation Mode

Choose the correct answer from the options given below:

[. Aand B Only
2. Cand D Only
3.A.Band C Only

4. A, B, Cand D Only

Options :



1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212315262 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fEoraT & SFUR Fafciad § &H-4 IeHidd [Hofgo & & fafe g9

A. 3gHE fafy
B. DD iy
D. dhYTd HhHgfg fafd
d fau U fadeui § U ¥3T SR &1 994 DIT:

1. Hdd A, B

2. $HddC, D

3. HAd A, B, C

4. HIAA,B,C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212315263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following terms are associated with the VRIO framework of Internal Analysis?

A. Valuable

B. Rare

C. Intimitable

D. Organised for usage
E. Innovative

Choose the correct answer from the options given below:

I. A and B Only
2.A,Band C Only
3.A,Band E Only

4. A, B, Cand D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212315263 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R Rae  BH-U Tog JMidRe fa<eiyu & dl 3R 3118 3 Hdd (GRaHT) U aiféi g2
A YoM
B. goY
C. 3T
D. JUI g T
E. JaMER]

i feu U fadedl 1 0 FgT IR 1 74 BT
| $dd A, B

2. HddA.B.C
3. B0 A B.E
4. $GAA.B.C.D



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212315264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which among the following characteristics influence consumer buying behavior strongly?

A. Cultural

B. Social

C. Personal

D. Psychological
E. Technological

Choose the correct answer from the options given below:
1. A, B.CandD Ounly
2.B.C,Dand E Only
3.A,C,Dand E Only
4.A,B,Dand E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212315264 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fFgfeiRad ¥ U &F T [Nt Uied & Y HdgR Bl Tl J THIdd Bl 82
A. Rpfdd
B. JHIf®
C. Jufdad

D. HAIRIHS
E. Ueife

A fou M0 faep et # ¥ Fg IR 61 9 BT
1. $hdd A, B, C 3R D
2. ®dd B, C,D3RE
3. B9 A, C.D 3RE
4. B9dA.B.D IRE

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212315265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Under Brand Sponsorship, store brands are also known as which other names from the following?

A. National Brands

B. Generic Brands

C. Private Brands

D. Distributor Brands

E. Manufacturers Brands

Choose the correct answer from the options given below:

1.B. Cand D Only
2.A. B, and C Only
3.C,Dand E Only

4.A,Dand E Only



Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212315265 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

§i1S TI-GRIRT o fivicl, R s ol fafeiad o 9 oot iR Al 9§ i TR e 3

B. RS §igd
c. folt gigy
D. [qR® sigy
E. A sigg

i feu T fadhedl 6 U WaT IR P 94 BT
| $dd B, C AR D

2. had A B IR C
3. %30 C, D ARE
4, AT A D IRE

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212315266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are positional averages?

A. Geometric mean
B. Hormonic mean
C. Mode

D. Median

E. Percentiles

Choose the correct answer from the options given below:

1. A. B and E Only

(]

. C and D Only

5]

.D and E Only
4. C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212315266 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafarad # 9 oH-g fRufard omad 62

A. SITEdT gegHE
B. eX[HD HEYHME

C. 9gdd
D. AT
E. Ufdedie (Ug=<gd)
A feu U fa eyl © O gat 3R &l 994 BT
|.Hdd A.B.E
Had C.D
HddD. E

4. H9AC.D. E
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Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212315267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are properties of regression coefficients”

Ar=(byxxbxy

B. Change in origin are not affected

C. Change in scale are not affected

D. If both the regression coefficient have negative sign, the correlation coefficient will have
negative sign

E. If one regression coefficient is greater than one then other regression coefficient must be less
than one.

Choose the correct answer from the options given below:

1.B,C,Dand E Only
2.A,Dand E Only
3.A.B.Dand E Only

4. A, Band Conly

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212315267 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



gfere o 9 I - d glamm uiies i faRivant ¢

A.r=byxxbxy

B. Hl 1 Ui TTfdd =gl gl €

C. T ¥ ORae g g1 81l

D. e 1 Ui Turich B0eTah fofg § ol Ggdiay Turidh +ff BeTes fag il
E. Ji¢; Uep e TIelt 7rich U ¥ 34féfeh g, Al quT Wikl Uik U © & g g

i feU U fddedl  § 7T TR &1 9 Difolt:
|.$dd B, C.D. E

2. $dAA.D.E
3. %9 A.B.D.E
4. HAAA. B.C

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212315268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are the main objectives of establishment of International Monetary Fund
(IME)?

A. To provide long-term funds at concession rates to the poorest member countries.
B. To promote the development of Private enterprises in member countries.
C. To regulate the exchange rates and enforce the rules.

D. To promote exchange stability , maintaining orderly exchange arrangements and avoiding
competitive exchange devalvation.

E. To assist in establishment of a multilateral system of payments in respect of current
transaction between members.

Choose the correct answer from the options given below:

I. A, Band C Only
2.B.Cand D Only
3.A,Cand E Only

4.C,Dand E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212315268 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



AT # 9 B - ¥ SeRIPTa 5T 1Y (RUATG) I R & 9 $e30 ¢

A, Fdam wew <t o femd &3t R o Ay Ter &l

B. We ¢ ¥ Foft Tl o faeprd o1 dgrar &1

. faf i i @1 faFafia S SR ol & e B |

D. fafA7g SaRT &l ST TG AR Wi e e Sfawe § o)

E. Y5 o i1d daH Seaey o Gaie] H YT &l aguelia qonerd &l Riftd & o
NRUNNHEETEI

Al e T fawedt 6 ¥ Hg1 IR &1 90 BT
1. T A, B.C
2. BB, C,D
3. HAqA, C.E
4. 69 C,D.E

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212315269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which among the following are true about World Trade Organisation (WTO)?

A. The WTO s a simple extension of General Agreement of Tariffs and Trade (GATT)
B. The WTO is a permanent institution with its own secretariat

C. The agreements which constitute the WTO are almost all plurilateral and thus involve
commutments for the entire members

D. The WTO includes Trade in Services and trade-related aspects of intellectual property rights

E. The WTO dispute settlement system is faster, more automatic and thus much less susceptible
to blockages, than old GATT system

Choose the correct answer from the options given below:
1.B.D and E Only
2.A.Band C Only
3.C,Dand E Only

4.B, Cand D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212315269 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



frafead o O B -8 Y 9 TR Wred (g & o) b I A Wl ¢

A. 3 ¢ 3 T e R IR GRR (7€) $T AR R |

B. 3oc ¢ 31l Ueh Rl TRIM g forept 01 Gfefarera 2 |

C. S5 ¢ 3l R H I T PR g4I SR T PR 9 U R
g0 § R 28 YHR STH Y0l Gewd] &l Hiddedd e g

D. 3% ¢l il Wit o AR 3R g WueT HAHR o AR Geidl ugq Aiwe |

E. S8 1 3l faate e ol QR e orrell 1 qe1 o diaR, 31t wiad 3k
SY ISR 28 scilch] ] GHIGH 9gd B gl 3|

A1 FeT TC fadedl § § Wg S @1 99 PifoiL
1. Hdd B, D.E
2. HATA, B, C
3.%dqC,D,E
4. BB, C,D

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212315270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are operational methodology of Self Help Group?

A. Village meeting of women in villages by MFI
B. Group formation
C. Group Training for 5-7 days on procedures and business development skills

A. Group meeting once in a week for mobilizing saving, disbursing and repaying loans.
B. Lending money for long term loans

Choose the correct answer from the options given below:

I. A, Band C Only
2.B, Cand D Only
3.A,B.CandD Only

4.B.C,Dand E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212315270 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T Wl GYE 1 FrHIeTd fhanfafea FHefared § g g g

A. THUGSTS R Tial H SfRal 1 afio g

B. JUfg T

C. WichaTaif SR ey A SRl W 5-7 el &1 griee uiie

D. §9d & U, HU1 & AT 3R Sferl o folt IeaTg # U IR Wi fged T
E. G 50 & foU e SUR ol

i feU MU fddetl & ¥ 75T TR &1 90 DIfolL:
| $AdA, B AR C

2. BaAB. C IR D
3. B9d A, B. C 3R D
4. 9dqB. C.D 3RE

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212315271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following Institutions are providing micro finance services to the poors?

A. Conventional weaker section lending banks.
B. Microfinance Institution.

C. Self Help Group-bank linkage programme
D. EXIM banks

Choose the correct answer from the options given below:

I. Aand B Only
2. B and C Only
3. Cand D Only

4. A, B and C Only

Options :



1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212315271 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frafafad 0 9 &M 9 G-y e8] &1 g&d fa<iig 9a1d Sudsy 3G 8

A. TRMRE gadl-[qUIT B dh

B. YA fdTdRMA

C. Wd: YgRId g - 4o fcidhs UM
D. UfdH dag

1 G U faehetl 7 ¥ FgT IR &1 9 BIfIT:
1. hdd A 3R B
2. HAAB 3R C
3. %dd C 3R D
4.%Had A, B3R C

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212315272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI
LISTII
Approaches of ; :
Explanation
Management

Deciston theory

[ [Managing is seen as mathematical process
approach

Management science

II. | Managerial practice depends on circumstances
approach

C.|Operational approach | III. | Focus 1s on making decisions

IV Draws together concepts, principles, techniques and knowledge from

| rentaiency Kol other fields of manageral approach

Choose the correct answer from the options given below:
[ A-IIL B-1 C-IV, D-IT
2. A-L B-IL CII1, D-IV
3. A-IIL, B-IV, C-I1, D-1I

4. A-IV, B-IIL, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212315272 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

I I
A %ﬁm L | vere @i o i & U A a6
FEEIEAGRIC]
Bl I1. |yt raeR Rt m Rk o e
el IIL | 30l @ o W i e B 8
o [ | | VR SURH & S 4T RO, R da! R I 1
| U | US MY TRV Bl &
4 fGU U fadhedl ¥ O WET IR & 94 Sifoe:

1. A-IIL, B-I, C-IV, D-II
2.A-L B-II, C-III, D-IV
3. AL, B-1V, C-I1, D-I

4. A-IV, B-IIL C-1, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212315273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Macro level Organisational stressors Causative factor in organisation
A |Rotating work shifts [ | Organisational structure and design
B. |Line-staff conflicts 1. | Administrative policies and strategies
C. | Appraisal system III. | Working conditions
D. | Polluted air IV | Organisational process

Choose the correct answer from the options given below:
1. A-L, B-II, C-IIL, D-IV
2. A-II, B-1I1, C-IV, D-1
3. A-II, B-I, C-1IV, D-III

4. A-I, B-IV. C-II. D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212315273 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV
2. A-II, B-1II, C-1V, D-1
3. A-Il, B-I, C-1V, D-1II

4. A-1. B-1V, C-1II, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212315274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Conflict Appropriate view
The Traditional = 2 i i A j
A s I. | The belief that conflict 15 a natural and inevitable outcome in any group
The Human ; o 5 .
B. S B II. | The belief that all conflict 1s harmful and must be avoided
Relations view
The Interactionist — , .
C View III. | Conflict that supports the goals of the group and improves its performance
D | Finctional conflist. |1V The belief that conﬂigﬁ 1snota pesi‘rireﬂforce ina group but that it 15
absolutely necessary for a group to perform effectively

Choose the correct answer from the options given below:

1. A-IL B-L, C-II1, D-IV

2. A-IL B-I, C-IV, D-III

3. AL B-II C-IV, D-III

4. A-I B-III, C-II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212315274 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tt 1 91 G 1 1 e Bifere

1 I

v EEI
A |TRURE R | 1 |9 fayre o oy fovdl oft g o U il 3R Sfasamdidt uRom &
B E&W I |5 e b 30 W BTFR® & 9 3 =l ST AT

¢ %}W 11| g i g e o e e R S e A QR R

. .| w5 fasra o5 e va g & voNe® 90 7 s g U8 A O &
D. (@wieTd ¥ IV T 0 T e oY %QWW%Q

A fGU U fadhed! # U TGt IR & 99 Bifoe:

L. A-IL B-I, C-III, D-IV

2. A-IL B, C-1V, D-III
3.A-L B-II, C-IV, D-III

4. Al B-III, C-I1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212315275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

Forms of Strikes Appropriate Meaning
A |Economic strike [ | Astrike ammed at protesting illegal conduct by the emplover.

Unfair labour A strike that results from a failure to agree on the terms of a contract that
B. R IL| g

practice strike nvolves wages, benefits and other conditions of emplovment.
C: Wild cat sirike I A strike that takes place when one union strikes i support of the strike of

another.

D. | Sympathy strike | IV. | An unauthorized strike occurring during the term of a contract.

Choose the correct answer from the options given below:
1. A-L, B-IIT, C-I1, D-IV
2. A-IL B-L, C-IV, D-IIT
3. AL B-LC-IL D-IV
4. A-L, B-IL, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212315275 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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. AL B-IIL, C-IL, D-IV

2. AL B-1, C-IV, D-IIT
3. A-IL B-L, C-II, D-IV

4. A-L, B-II, C-III, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212315276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Ind AS Related to

Ind AS-12 | I. | Eaming per share
Ind AS-16 | II. | Intangible assets

Ind AS-33 |III. | Property plant and equipment
Ind A5-38 | IV | Income Taxes

=3 Rel R e

Choose the correct answer from the options given below:
1. A-I, B-II, C-1IV, D-1I
2. A-IV, B-1II, C-1. D-II
3. A-IV. B-1II, C-II, D-I
4. A-III, B-IV. C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212315276 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-III, C-IV, D-II
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2. A-IV, B-II1, C-1, D-TI
3. A-IV, B-1II, C-1I, D-1

4. A-II1, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212315277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

Lo LISTII
Tvpes of
P Formula
Variance
A Material Cost I {Standard Quantity - Actual
" | Variance " | Quantity) X standard price
Mgtenal (Standard price - Actual price) X
% [Fhes % | Ackiai oty
Variance . .
Material Standard cost of actual quantity of
C. | Usage IT1 | actual mixture- Standard cost of
Variance actual quantity of standard mixture
D Material Mix v (Standard price X standard quantity)
" | Variance " |- (Actual price X Actual Quantity)

Choose the correct answer from the options given below:

1. A-1, B-II, C-III, D-IV

b2

CA-TV, B-1. C-II, D-III

[

. A-I1, B-IV, C-I, D-IIT

4. A-IV, B-11, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212315277 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-L B-IL, C-III, D-IV
2. A-IV, B-I, C-II, D-III
3. A-II, B-IV, C-I, D-III

4. A-IV, B-II, C-L, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212315278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

,LIST i LISTI
Carpacate Meanin

Restructuring ’ g

A |Leveraged Buyouts | 1. | Company sells a part of its business to third party
.| Divertment II. | Company create a new company from the existing single entity
C. | Sell-off [11 | Sale of a company's assets or division to the outsiders
D. |Spin-off v z'iLﬂ acquisition of a company in which the acquisition 15 substantially
financed through debt

Choose the correct answer from the options given below:
1. A-IV, B-IIL, C-I, D-II
2. A-IIL, B-IV, C-1, D-II
3.A-LB-IL C-I1, D-IV
4. A-IV, B-IIL, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212315278 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-III, C-I, D-II

2. A-IIL B-1V, C-1, D-II
3.A-L B-IL CII1, D-IV
4. A-IV, B-IIL, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI
e LISTII
Derivative ; .
Their Explanation
type

An agreement to buy or sell an asset on a specific date for a specified price,

& RO |1 settlement happens at the end of the pertod.

1 An agreement between two parties to buy or sell an asset at a certain time in future

B. |Put option AT :
P at certain price, through standardized contracts and traded through stock exchange.

C Future m A contract that gives the holder the right but not the obligation to buy specified
"| Contract | securities at a specified exercise date.

D Forward v A contract that gives the holder the right but not the obligation to sell securities on or
" | Contract "| by a certain date at a fixed exercise price.

Choose the correct answer from the options given below:
I A-IV, B-IIT, C-I, D-II
2. AL B-IL C-1 D-IV
3. AL B-L, C-IIL D-IV

4. A-IIL, B-1V, C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212315279 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-III, C-I, D-II

2. AJIL BIL C-L, D-IV
3. AL B, C-IIL, D-IV
4, AL B-IV, C-IL DI

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212315280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
Pricing situation Description
Product line Pricing I. | Pricing optional or accessory products sold with the main product

Optional product pricing | IL. | Sefting prices across an entire product line

Captive product Pricing | IT1. | Pricing low value by product to get rid of or make money on them.

A
B.
C.
D.

By-Product Pricing IV, | Pricing products that must be used with the main product.

Choose the correct answer from the options given below:
l. A-L B-IIL C-IV, D-TI
2. A-IL B-IIL, C-IV, D-1
3.A-IL B-L, C-IV, D-III
4. A-III, B-1V, C-I1, D1

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212315280 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-III, C-IV, D-II

2. A-IL B-IL, C-IV, D-I
3. AL B-I, C-IV, D-III

4. A-IIL B-IV, C-II, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212315281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Model/ Framework Developed By
VRIO Framework I. | 1B Bamey

Value Chain Analysis | II. | M.E Porter
Product Market Matrix | III. | HI Ansoff
PEST Analysis IV. | Johnson and Scholes

=3 Rel R e

Choose the correct answer from the options given below:
1. A-I. B-II, C-III, D-IV
2. A-1, B-III, C-1I, D-IV
3. A-IIL B-1. C-II, D-IV
4. A-I1, B-I, C-IV, D-ITT

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212315281 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

= 11
|31 3R o ot HEs | L |9 dlEd
Hed g faveuu | 11 | TH. 5 Oiee
UG AR Afcad |11 | U9, 318 oHd1n
|t v d faeigu | v | SIHEH Ud e

4 fau U fasedl § O et 3R &1 994 Hif:

1. A-I, B-II, C-III, D-IV

ololw]E

2. A-L, B-III, C-II, D-IV
3. A-IIL B-L, C-II, D-IV

4. A-I1, B-1, C-IV, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212315282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI
: - LISTII
Types of Buying Decision : :
3 Their Explanation
Behaviour

Highly involved in a purchase and percetve significant difference

A [Complex Buying Behaviour | L
among brands

B Dissonance-reducing buying

: : Il | Low consumer involvement and little significant brand difference
behaviour

: } : Low consumer mvolvement but significant percerved brand
C. |Habitual Buying Behaviour |IIL 5 R

differences
D Vartety seeking buying Iv Highly involved with an expensive, infrequent, or risky purchase
" [ behaviour | but see little difference among brands.

Choose the correct answer from the options given below:

[. A-IIL B-II, C-1, D-IV
2. AL B-IV, CII, D-TI
3. A-IL B-IIL C-1, D-IV

4. A-IV, B-IIL, C-I, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212315282 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIL B-IL, C-I, D-IV
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2. AL, B-IV, C-IIL, D-II
3. AL BIL G-I, D-IV

4. A-IV, B-IIL C-1, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

.| Destrable Products

LISTI LISTII
Societal classification of Degree of long-run consumer benefit and immediate consumer
products satisfaction
A [Deficient Products I |Low long-run consumer benefit and high immediate satisfaction
B. | Pleasing Products Il |High long-run consumer benefit and high immediate satisfaction
C. | Salutary Products [1I. [High long-run consumer benefit and low immediate satisfaction
D

V.

Low long-run consumer benefit and low immediate satisfaction

Choose the correct answer from the options given below:

| A-IV, B-I, C-IIL, D-II
2. AL BIL C-IIL D-IV
3, AL B-IL C-L DIV
4, A-IIL, B-IV, C-IL, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212315283 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tl 1 91y T 11 &1 el difere

mmmmﬁaimﬂmﬁmm aﬁﬁrmmmmﬂ?%mmaﬁm
A | TN 3G L |y s es i SR 3w diepicd Gqp
B. |T=® 3G 1. | 3= ST Ted o 3R 3= daiiad 9qp
¢ |frame g 111 | 3 ERidIice e oy AR 8 dra o dqy
D.|gi@i 3 V. | e EfaTicd Tre T SR 5 diaTiad 9qi

4 feu U faded § U WHT SR &1 79 Difew:

1. AV, B-L C-IIL, D-II
2. A-L B-IL C-IIL, D-IV
3. AL BIL CLDIV

4. A-IIL B-IV, C-II, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212315284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LIST1 LISTII
Nature of Study Choice of Sampling Method
A | Size of all strata is equal [. |Quota sampling
B. | Information can be provided by few respondents II. | Conventence sampling
C. | Information s required from particular strata of population |II1. | Judgement sampling
D. | To obtain quick information IV | Startified random sampling

Choose the correct answer from the options given below:
L. A-IV, B-II, C-L, D-II
2. A-IV, B-IIL, C-11, D-1
3. A-III, B-IV, C-I1, D-1
4. A-L B-IL, C-IIL, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212315284 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-IIL C-1, D-II
2. A-IV, B-1II, C-11, D-1
3. A-IIT, B-IV, C-I1, D-1

4. A-1, B-1I, C-1II, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212315285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI
; . LISTII
International Business :
e Explanation
Orientation
Ethnocentric A Global marketing strategy 1s followed across all the countries
B Fetnsars L L % = ; ; .
Ortentation considering the world as a global village without any boundaries
B Polycentric I Common marketing strategy 1s applied in a group of foreign countries
" | Orientation " | having similarities n terms of consumers and business environment
C Regio centric m Marketing strategies are modified as per the needs of local consumer of
" | Ortentation | the foreign market
D Geocentric IV Marketing strategy of Domestic market 15 applied n the foreign country's
" Ortentation | market

Choose the correct answer from the options given below:

I A-IIT, B-1V, C-I, D-II
2. A-IV, B-IIL C-II, D-1I
3.A-L B-IL, C-II, D-IV

4. A-IL, B-III, C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212315285 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL B-1V, C-I, D-II

2. A-IV, B-III, C-II, D-I
3.A-L B-II CII1, D-IV

4. A-IL B-IIL, C-I, D-IV
Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
Name of Theories Propounder
A | Theorv of Opportunities and Innovation | 1. | Frank H Knight
B. | Theory of profit II. |Peter F Drucker
C. | Theorv of Entrepreneurial Supply III. | Sigmund Feud
D. | Psychoanalytic Theory IV. | Thomas Cochran

Choose the correct answer from the options given below:
1. A-II. B-TII, C-IV, D-I
2. A-11, B-1, C-IV, D-III
3. A-I, B-III, C-II, D-IV
4. A-IIL, B-II. C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212315286 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-II. B-III, C-IV, D-I
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3. A-L, B-IIL, C-II, D-IV

4. A-IIL B-11, C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 2
Sub-Section Id : 342123598
Question Shuffling Allowed : No

Question Id : 34212315287 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and answer the Question that follow:

Organizational culture refers to qualities of the workplace itself that influence its employees,
whereas Organizational behavior refers to the resulting behavior of the people within it.
Organizational culture includes factors such as core values, the company’s mission statement and
expectations of the employees. It defines the identity and how it wants to be perceived.

For the instance, if a company has a mission statement focused on providing the highest quality
of customer service, then the core values may be centered around communication,
professionalism and customer satisfaction. This will shape the employees expectations, such as
expecting them to be willing and courteous to go the extra mile to serve the customer.

Organizational behavior is the resulting behavior of the people within the organization based on
the culture they’re immersed in. if the company culture is one that promotes customer service,
then the employees are likely to display behavior such as friendliness and helpfulness when
dealing with customers.

The opposite may be true if the company’s culture revolves around a competitive environment
and employees are expected to go above and beyond to be the most successful. In this case,
employees may display behavior such as aggressiveness and competitiveness in order to achieve
the highest results,

Organizational culture works as the foundation for the employee’s behavioral exhibit, and the two
are closely intertwined. If a company wishes to create a positive working environment, it is
essential to establish an organizational culture that promotes a healthy behavioral environment
among its employees.

Sub questions

Question Number : 141 Question Id : 34212315288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT a factor included in organisational culture?

1. Core values

I3

. Companies mission

fad

. Employee's salary
4. Expectations of employees

Options :
1.1
2.2
3.3



4.4

Question Number : 142 Question Id : 34212315289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In a company with a culture focused on customer service, employees are expected to demonstrate
behaviors such as:

1. Competitiveness and agression
2. Friendliness and helpfulness
3. Independence and autonomy

4. Innovation and Creativity

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212315290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What might employees in a competitive organisational culture display?

1. Cooperation and teamwork

2. Friendliness and helpfulness

3. Indifference and passiveness

4. Aggressiveness and Competitiveness

Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212315291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which statement best describes the relationship between organisational culture and organisational
behavior?

. Organisational culture influences the resulting behavior of emplyees
2. Organisational culture is the result of organisational behavior
3. Organisational behavior is solely determined by external factors

4. Organisational behavior is independent of organisational culture

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212315292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What role does organisational behavior play in the workplace?

1. It defines organisational goals

3

. It represents resultant employee actions

LS

. It determines managerial decisions
4. It outlines employee training programmes

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315287 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 34212315288 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2




3.3
4.4

Question Number : 142 Question Id : 34212315289 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212315290 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212315291 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212315292 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123599
Question Shuffling Allowed : No

Question Id : 34212315293 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)



Question Label : Comprehension

Read the passage carefully and answer the Questions:

AT’s impact on the workforce is multifaceted. It involves the automation of repetitive and routine
tasks, changing skill requirements and job displacement. This can be beneficial for employees as
it frees them up to focus on more complex and creative work, but it can also create concerns
about job displacement and changes in the demand for certain types of jobs. However, Al is also
creating new job opportunities, especially i data analytics machine learning and AI
development.

Despite these potential benefits, there are also concerns about the drawbacks of implementing Al
on a larger scale in the workforce. One potential concern is job displacement, which can lead to
unemployment and the need for reskilling and upskilling. Another concern is the potential for
bias and discrimination in algorithms, which can have negative consequences for marginalized
individuals and communities,

Privacy and security are also major concerns regarding the impact of Al on the workforce. As Al
becomes more advanced, it is important to ensure that personal data is protected, and Al system
are secure against cyberattacks. Nonetheless, AI can also enhance efficiency and productivity,
and Its advancements may lead to new job opportunities for workers with the right skills and
knowledge.

Sub questions

Question Number : 146 Question Id : 34212315294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is one potential benefit of AI in the workforce mentioned in the passage?
1. Increased job displacement
2. Automation of repetitive tasks
3. Reduced need for creativity
4. Decreased demand for data analysis

Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212315295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which potential drawback of AI in the workforce is associated with algorithmic decision-
making?

I. Reduced efficiency
2. Increased job satisfaction
3. Bias and Discrimination

4. Enhanced security measures

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212315296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which skill is likely to become increasingly important in light of AT's impact on the workforce?

|. Manual Labour

2. Routine administrative task

3. Following predefined procedures

4. Creative thinking and problem-solving

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212315297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to the passage, what must be ensured as Al becomes more advanced in the workforce?

1. Protection of personal data and cybersecurity
2. Improved job security for all workers

3. Increased bias in decision making

4. Decreased efficiency in operations

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212315298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which statement summarieses a potential outcome of advancement in workforce according to the
passage?

1. Al will eliminate all job roles that require creativity
2. AT will benefit workers in specialised technical field
3. Al advancement may create new job opportunities

4. ATwill lead to a decrease in overall workforce productivity

Options :
1.1
2.2
3.3
4.4

Question Id : 34212315293 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (146 to 150)
Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 34212315294 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 34212315295 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 34212315296 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 34212315297 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 34212315298 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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